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#1: 3 [EIEL(T1) #2: 1 ZEFE(62.54) #3 2 1B (61.73)

1 NS: E=6HE HeFefa(GHO) 37 4 NS: GRS BRIZEN(BAC) -311 19.91 0.09 Total VP: 62.54 Rank:
EW: $8{—5¢ MESEEIC) 30 EW: Rl %R K(BAO) -3 IMP:| 56 1 2
# 15 » Q86 3NW-150 Mean: 3NW-2 100 80 1 [[#16 s QT 987632 4SXN-2 -300 Mean: 5DW-1 100 9.0 1
v 753 3NW4 -430 -260 3NW-1 50 70 1 v6 4SXN-2 -300 -290  4SXN-2 300 0.0 4
T Dif: 480 NS:7 3NW3 400 -40 1 *5 Dif: 0 NS:0 3NW5 660 9.0 1
» KT9642 IMP: 10 EW:5 3NW4 430 50 2 » 987 IMP: 0 EW:0
s K32 aJ 3SXS-2 500 60 1 ||a K5 » A4
v K82 | v ATé4 v KJ5 — v QT43
* AKJ7 + 6543 * A942 ¢ QJT7
& A87 » QJ53 » K652 » AT4
o4 VBN 4 ATI754 o OVABN ,J
N ~~~~~ v QJ9 N ~~~ 2~ o A9872
§ ~~~~~ + Q982 S ~~~2~ ¢ K863
E 234~2 & E 444~5 & QJ3
W 234~2 W 444~5
# 17 s J4 3CN4 130 Mean: 3SXW-4 800 11.0 1 ||# 18 » K6 4SXW-1 100 Mean: 3NS3 600 11.0 1
v QT6 3CN4130 210 3HS4 170 1.0 1 v Q987 4CN-1-100 10 4SXW-1 100 30 2
+ A632 Dif: 0 NS:-2 3CN4 130 20 3 ¢ Q5 Dif: 200 NS:3 4CN-1 100 -3.0 1
& AQ93 IMP: 0 EW:2 4HS-2 4100 7.0 1 & A9764 IMP: 5 EW:3 3NS-1 4100 -3.0 1
& KQT98 a A52 » T987 3SXW3 530 -11.0 1
v KJ32 v 98 | v J6543
¢ 84 ¢ JT975 *9
& 72 » JT4 a JT5
®IVOBN o763 s QJ
N 4~2~2 9A754 v AT2
S 4~2~2 +KQ + KJ42
E ~~~1~ &K865 & KQ32
W ~~~1+~
#19 » Q65 3NW5 -660 Mean: 4HWS5 650 00 2 ||# 20 & K7543 3NE4 -630 Mean: 3NE3 600 1.0 2
v J52 3NW5 -660 -640 3NW4 630 00 2 v 86 3NE5 -660 -620 3NE4 630 0.0 3
+ Q8643 Dif: 0 NS:-1  3NW5 660 -1.0 2 ¢ 64 Dif: 30 NS:0 3NE5 660 -1.0 1
» 75 IMP: 0 EW:1 » JT75 IMP: 1 EW:1
s AT43 a 72 a JT2 & Q6
v 83 v AKQ764 v 943 _I_ v AK72
* AK97 * T2 + KT953 ¢ QJ7
& AQ2 » 643 A9 » KQ83
o ¢ VAN 4KJB *oVAN 4 A8
N ~~~~~ vT9 N ~~~~~ v QJTS
S ~~~~~ ¢+ J5 S ~~~~~ o+ A82
E ~~6~5 &KJT98 E ~42~2 4642
W~~6~5 W ~42~2
# 21 aT 3NN4 630 Mean: 3NN4 630 9.0 3 ||# 22 'S 5HXS5 650 Mean: 5HXS5 650 10.0 1
w7 3NS-1-100 240  3NS-1 100 -8.0 2 v AK432 5HS5450 200 5CXN5 550 8.0 1
+ AQ8754 Dif: 730 NS:9  3NS-2 200 -10.0 1 *Q Dif: 200 NS:10 5HS5 450 6.0 1
& QJ975 IMP: 12 EW:8 & AQJT762 IMP: 5 EW:-6 6HN-1 50 6.0 1
& A953 » J872 & KQJ6532 & A98 6HXS-1 100 -7.0 1
v 654 v JT92 v 96 — v QT 6HXS-2  -300 -11.0 1
¢ J62 ¢+ K3 + AJ5 + KT762
& K42 » AT8 a9 » K84
% ¢ VAN o, KQ64 oo VAN ,T74
N 23 ~~1 v AKQ83 N 5~5~~ ¢ J875
S 23~~1 ¢T9 S 5~5~~ 49843
E ~~~1~ 63 E ~3~41 &53
W ~~~1+~ W ~4~41
# 23 4 9742 1NW2 -120 Mean: 1NWA1 -90 1.0 1 # 24 4 J9 3SW4 -170 Mean: 3SE3 140 1.0 1
v 9432 1NW2 -120 -120  1NW2 120 00 4 v QT8 2SE4 -170 -160  3sW4 470 0.0 1
* Q9 Dif: 0 NS:0 1NW3 4150 1.0 1 * AJT Dif: 0 NS:0 3SE4 4170 0.0 1
» KQ8 IMP: 0 EW:0 & QT654 IMP: 0 EW:0 2sSw4 470 0.0 1
» J86 » KQT » K64 #» AT7532 2SE4 470 0.0 2
v AK + v JT7 v K543 v 762
¢ AKJ65 ¢ T32 Q8 * K92
& 764 S & T953 » K983 a7
¢ VBN 4 A53 o4V ABN 4, Q8
N ~~1~~ v Q865 N 11~~~ v AJ
S ~~1~~ 4874 S 11~~~ 476543
E 23 ~~3 &AJ2 E ~~131 &AJ2
W 23~~3 W ~~231
# 25 aJ 3NE-1100 Mean: 4SE-1 100 6.0 1 ||# 26 » KQ432 5DS5 600 Mean: 3NN5 660 3.0 3
v T76 4SE4 -620 -130  3NE-1 100 6.0 3 v A 3NN4 630 560 3NN4 630 2.0 1
¢ AJI73 Dif: 720 NS:6 4SE4 620 -10.0 1 + AQ6 Dif: -30 NS:1  5DS5 600 1.0 1
& 6542 IMP: 12 EW:10 3NE3 600 -10.0 1 & KQT3 IMP: -1 EW:-2 3SE-2 200 80 1
& Q6432 & AT8 a & AJT98765
v Q3 v AK92 v QJT763 + v 94
+ K865 — + Q42 ¢+ 987 ¢ 53
& K3 » A98 » A964 a7
% ¢ VAN o KI75 o OVAN ,
N ~~~~~ v J854 N 54 ~~5 o K852
S ~~~~~ T S 54 ~~5 ¢ KJT42
E ~3~43 &QJT7 E ~~~1~ &J852
W ~3~43 W ~~~1-~
# 27 » K7 3NS-1-50 Mean: 3NN3 400 80 1 ||# 28 4 AT654 5DXE-2 300 Mean: 5DXE-3 500 100 1
v J3 3NS-1-50 40  2DN2 90 20 1 v KQ63 4SN-2-200 10  5DXE-2 300 7.0 1
o KQ8654 Dif: 0 NS:-3 3NS-1 50 3.0 3 + J9 Dif: 500 NS:7 4SN-1 4100 -3.0 1
» Q62 IMP: 0 EW:3 3NN-1 50 3.0 1 & A7 IMP: 11  EW:5 3NS-1 100 -3.0 1
# 9842 s J5 » 87 » K9 4SN-2 200 -5.0 1
v QT754 v K962 v A I v 98752 4SN-3 -300 -7.0 1
* AJ7 ¢T3 + Q854 ¢ AT762
T » KJ973 » T86542 a~J
% ¢ VAN ,AQT63 F VAN 4, QJ32
N 25~22 A8 N ~~232 ¢ JT4
S 25~22 492 S ~~232 +K3
E ~~2~~ &A854 E ~~~~~ & KQ93
W ~~2~~ W ~~~~~
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#1: 3 [EIEL(T1) #2: 1 ZEFE(62.54) #3 2 1B (61.73)

2 NS: BEssE BREIRGHO) -11 5 NS: ZBigs] FBIIH(BAC) -28 1442 : 5.58 Total VP: 61.73 Rank:
EW: Sfsas BEHEAUEAC) 28 EW: BIE#E % (B0) 11 IMP:| 42 26 3
# 15 » Q86 3SXS-2 -500 Mean: 3NW-2 100 80 1 [[#16 s QT 987632 4SXN-2 -300 Mean: 5DW-1 100 9.0 1
v 753 3NW3 -400 -260 3NW-1 50 70 1 v6 5DW-1 100 -290  4SXN-2 300 0.0 4
T Dif: -100 NS:-6 3NW3 400 -40 1 *5 Dif: -400 NS:0 3NW5 660 9.0 1
» KT9642 IMP: -3 EW:4 3NW4 430 50 2 » 987 IMP: -9 EW:-9
s K32 aJ 3SXS-2 500 60 1 ||a K5 » A4
v K82 | v ATé4 v KJ5 — v QT43
* AKJ7 + 6543 * A942 ¢ QJT7
& A87 » QJ53 » K652 » AT4
o4 VBN 4 ATI754 o OVABN ,J
N ~~~~~ v QJ9 N ~~~ 2~ o A9872
§ ~~~~~ + Q982 S ~~~2~ ¢ K863
E 234~2 & E 444~5 & QJ3
W 234~2 W 444~5
# 17 s J4 3HS4 170 Mean: 3SXW-4 800 11.0 1 ||# 18 » K6 3NS-1-100 Mean: 3NS3 600 11.0 1
v QT6 3SXW-4 800 210 3HS4 170 1.0 1 v Q987 3SXW3-530 10 4SXW-1 100 30 2
+ A632 Dif: -630 NS:-1 3CN4 130 20 3 ¢ Q5 Dif: 430 NS:-3 4CN-1 100 -3.0 1
& AQ93 IMP: -12 EW:-11 4HS-2 4100 7.0 1 & A9764 IMP: 10 EW:11  3NS-1 4100 -3.0 1
& KQT98 a A52 » T987 3SXW3 530 -11.0 1
v KJ32 v 98 | v J6543
¢ 84 ¢ JT975 *9
& 72 » JT4 a JT5
®IVOBN o763 s QJ
N 4~2~2 9A754 v AT2
S 4~2~2 +KQ + KJ42
E ~~~1~ &K865 & KQ32
W ~~~1+~
#19 » Q65 3NW4 -630 Mean: 4HW5 650 00 2 ||# 20 & K7543 3NE4 -630 Mean: 3NE3 600 1.0 2
v J52 3NW4 -630 -640 3NW4 630 00 2 v 86 3NE3 -600 -620 3NE4 630 0.0 3
+ Q8643 Dif: 0 NS:0 3NW5 660 -1.0 2 ¢ 64 Dif: -30 NS:0 3NE5 660 -1.0 1
» 75 IMP: 0 EW:0 » JT75 IMP: -1 EW:-1
s AT43 a 72 a JT2 & Q6
v 83 v AKQ764 v 943 _I_ v AK72
* AK97 * T2 + KT953 ¢ QJ7
& AQ2 » 643 A9 » KQ83
o ¢ VAN 4KJB *oVAN 4 A8
N ~~~~~ vT9 N ~~~~~ v QJTS
S ~~~~~ ¢+ J5 S ~~~~~ o+ A82
E ~~6~5 &KJT98 E ~42~2 4642
W~~6~5 W ~42~2
# 21 aT 3NS-1-100 Mean: 3NN4 630 9.0 3 ||# 22 'S 6HN-1 -50 Mean: 5HXS5 650 10.0 1
w7 3NS-2-200 240  3NS-1 100 -8.0 2 v AK432 6HXS-1-100 200 5CXN5 550 8.0 1
+ AQ8754 Dif: 100 NS:-8 3NS-2 200 -10.0 1 *Q Dif: 50 NS:-6 5HS5 450 6.0 1
& QJI75 IMP: 3 EW:10 & AQJT762 IMP: 2 EW:7 6HN-1 -50 6.0 1
& A953 » J872 & KQJ6532 & A98 6HXS-1 100 -7.0 1
v 654 v JT92 v 96 — v QT 6HXS-2  -300 -11.0 1
¢ J62 ¢+ K3 + AJ5 ¢ KT762
& K42 » AT8 a9 » K84
% ¢ VAN o, KQ64 oo VAN ,T74
N 23 ~~1 v AKQ83 N 5~5~~ ¢ J875
S 23~~1 ¢T9 S 5~5~~ 49843
E ~~~1~ 63 E ~3~41 &53
W ~~~1+~ W ~4~41
# 23 4 9742 1NW3 -150 Mean: 1NWA1 -90 1.0 1 # 24 4 J9 3SE4 -170 Mean: 3SE3 140 1.0 1
v 9432 1NW2 -120 -120  1NW2 120 00 4 v QT8 2SW4 -170 -160  3SW4 470 0.0 1
* Q9 Dif: -30 NS:-1  1NW3 4150 1.0 1 * AJT Dif: 0 NS:0 3SE4 4170 0.0 1
» KQ8 IMP: -1 EW:0 & QT654 IMP: 0 EW:0 2sSw4 470 0.0 1
» J86 » KQT » K64 #» AT7532 2SE4 470 0.0 2
v AK + v JT7 v K543 v 762
¢ AKJ65 ¢ T32 Q8 * K92
& 764 S & T953 » K983 a7
¢ VBN 4 A53 o4V ABN 4, Q8
N ~~1~~ v Q865 N 11~~~ v AJ
S ~~1~~ 4874 S 11~~~ 476543
E 23 ~~3 &AJ2 E ~~131 &AJ2
W 23~~3 W ~~231
# 25 aJ 4SE-1100 Mean: 4SE-1 100 6.0 1 ||# 26 » KQ432 3NN5 660 Mean: 3NN5 660 3.0 3
v T76 3NE3 -600 -130  3NE-1 100 6.0 3 vA 3NN5 660 560 3NN4 630 2.0 1
¢ AJI73 Dif: 700 NS:6 4SE4 620 -10.0 1 + AQ6 Dif: 0 NS:3 5DS5 600 1.0 1
& 6542 IMP: 12 EW:10 3NE3 600 -10.0 1 & KQT3 IMP: 0 EW:-3 3SE-2 200 80 1
& Q6432 & AT8 a & AJT98765
v Q3 v AK92 v QJT763 + v 94
+ K865 — + Q42 ¢+ 987 ¢ 53
& K3 » A98 » A964 a7
% ¢ VAN o KI75 o OVAN ,
N ~~~~~ v J854 N 54 ~~5 o K852
S ~~~~~ T S 54 ~~5 ¢ KJT42
E ~3~43 &QJT7 E ~~~1~ &J852
W ~3~43 W ~~~1-~
# 27 » K7 3NN3 400 Mean: 3NN3 400 80 1 ||# 28 4 AT654 3NS-1-100 Mean: 5DXE-3 500 100 1
v J3 3NS-1-50 40  2DN2 90 20 1 v KQ63 4SN-3-300 10  5DXE-2 300 7.0 1
o KQ8654 Dif: 450 NS:8 3NS-1 50 3.0 3 + J9 Dif: 200 NS:-3 4SN-1 4100 -3.0 1
» Q62 IMP: 10 EW:3  3NN-1 50 3.0 1 & A7 IMP: 5 EW:7 3NS-1 100 -3.0 1
# 9842 s J5 » 87 » K9 4SN-2 200 -5.0 1
v QT754 v K962 v A I v 98752 4SN-3 -300 -7.0 1
* AJ7 ¢T3 + Q854 ¢ AT762
T » KJ973 » T86542 a~J
% ¢ VAN ,AQT63 F VAN 4, QJ32
N 25~22 A8 N ~~232 ¢ JT4
S 25~22 492 S ~~232 +K3
E ~~2~~ &A854 E ~~~~~ & KQ93
W ~~2~~ W ~~~~~
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#1: 3 [EIEL(T1) #2: 1 ZEFE(62.54) #3 2 1B (61.73)

3 NS: #BGRE FREET(BE0) 31 6 NS: fil% Z5E(FC) -1 | 17.04 : 2.96 Total VP: 71.00 Rank:
EW: iR BEEHHEAC) 1 EW: ZBA3E $BIR(BAO) -3| IMP:| 54 24 1
# 15 » Q86 3NW-2 100 Mean: 3NW-2 100 80 1 [[#16 s QT 987632 3NW5 -660 Mean: 5DW-1 100 9.0 1
v 753 3NW4 -430 -260 3NW-1 50 70 1 v6 4SXN-2 -300 -290  4SXN-2 300 0.0 4
oT Dif: 530 NS:8 3NW3 400 -40 1 *5 Dif: -360 NS:-9 3NW5 660 9.0 1
» KT9642 IMP: 11 EW:5 3NW4 430 50 2 » 987 IMP: -8 EW:0
s K32 aJ 3SXS-2 500 60 1 ||a K5 s A4
v K82 | v ATé4 v KJ5 — v QT43
* AKJ7 + 6543 * A942 ¢ QJT7
& A87 » QJ53 » K652 » AT4
o4 VBN 4 ATI754 o OVABN ,J
N ~~~~~ v QJ9 N ~~~ 2~ o A9872
§ ~~~~~ + Q982 S ~~~2~ ¢ K863
E 234~2 & E 444~5 & QJ3
W 234~2 W 444~5
# 17 s J4 3CN4 130 Mean: 3SXW-4 800 11.0 1 ||# 18 » K6 3NS3 600 Mean: 3NS3 600 11.0 1
v QT6 4HS-2 -100 210  3HS4 170 1.0 1 v Q987 4SXW-1100 10 4SXW-1 100 30 2
+ A632 Dif: 230 NS:-2 3CN4 130 20 3 ¢ Q5 Dif: 500 NS:11 4CN-1 100 -3.0 1
& AQ93 IMP: 6 EW:7 4HS-2 4100 7.0 1 & A9764 IMP: 11 EW:-3 3NS-1 4100 -3.0 1
& KQT98 a A52 » T987 3SXW3 530 -11.0 1
v KJ32 v 98 | v J6543
¢ 84 ¢ JT975 *9
& 72 » JT4 a JT5
®IVOBN o763 s QJ
N 4~2~2 9A754 v AT2
S 4~2~2 +KQ ¢ KJ42
E ~~~1~ &K865 & KQ32
W ~~~1+~
#19 » Q65 4HWS5 -650 Mean: 4HW5 650 00 2 ||# 20 & K7543 3NE4 -630 Mean: 3NE3 600 1.0 2
v J52 4HWS5 -650 -640  3NW4 630 00 2 v 86 3NE3 -600 -620 3NE4 630 0.0 3
+ Q8643 Dif: 0 NS:0 3NW5 660 -1.0 2 ¢ 64 Dif: -30 NS:0 3NE5 660 -1.0 1
» 75 IMP: 0 EW:0 » JT75 IMP: -1 EW:-1
s AT43 a 72 a JT2 & Q6
v 83 v AKQ764 v 943 _I_ v AK72
* AK97 * T2 + KT953 ¢ QJ7
& AQ2 » 643 A9 » KQ83
o ¢ VAN 4KJB F¢VAN 4 A0
N ~~~~~ v T9 N ~~~~~ v QJTS
S ~~~~~ ¢+ J5 S ~~~~~ o+ A82
E ~~6~5 &KJT98 E ~42~2 4642
W~~6~5 W ~42~2
# 21 aT 3NN4 630 Mean: 3NN4 630 9.0 3 ||# 22 'y 5CXN5 550 Mean: 5HXS5 650 10.0 1
w7 3NN4 630 240  3NS-1 100 -8.0 2 v AK432 6HXS-2 -300 200 5CXN5 550 8.0 1
+ AQ8754 Dif: 0 NS:9 3NS-2 200 -10.0 1 *Q Dif: 850 NS:8 5HS5 450 6.0 1
& QJ975 IMP: 0 EW:-9 & AQJT762 IMP: 13 EW:11  6HN-1 50 6.0 1
& A953 » J872 & KQJ6532 & A98 6HXS-1 100 -7.0 1
v 654 v JT92 v 96 — v QT 6HXS-2  -300 -11.0 1
¢ J62 ¢+ K3 + AJ5 + KT762
& K42 » AT8 a9 » K84
% ¢ VAN o KQ64 oo VAN ,T74
N 23 ~~1 v AKQ83 N 5~5~~ ¢ J875
S 23~~1 ¢T9 S 5~5~~ 49843
E ~~~1~ 63 E ~3~41 &53
W ~~~1+~ W ~4~41
# 23 4 9742 1NW1 -90 Mean: 1NW1 -90 1.0 1 # 24 4 J9 2SE4 -170 Mean: 3SE3 140 1.0 1
v 9432 1NW2 -120 -120  1NW2 120 00 4 v QT8 3SE3 -140 -160 3SwW4 470 0.0 1
* Q9 Dif: 30 NS:1  1NW3 4150 1.0 1 * AJT Dif: -30 NS:0 3SE4 4170 0.0 1
» KQ8 IMP: 1 EW:0 & QT654 IMP: -1 EW:-1  2SW4 470 0.0 1
» J86 » KQT » K64 #» AT7532 2SE4 470 0.0 2
v AK + v JT7 v K543 v 762
¢ AKJ65 ¢ T32 Q8 * K92
& 764 S & T953 » K983 a7
¢ VBN 4 A53 o4V ABN 4, Q8
N ~~1~~ vQ865 N 11~~~ vAJ
S ~~1~~ 4874 S 11~~~ 476543
E 23~~3 &AJ2 E ~~131 &AJ2
W 23~~3 W ~~231
# 25 aJ 3NE-1 100 Mean: 4SE-1 100 6.0 1 ||# 26 » KQ432 3SE-2200 Mean: 3NN5 660 3.0 3
v T76 3NE-1100 -130  3NE-1 100 6.0 3 v A 3NN5660 560  3NN4 630 2.0 1
¢ AJI73 Dif: 0 NS:6 4SE4 620 -10.0 1 + AQ6 Dif: -460 NS:-8 5DS5 600 1.0 1
& 6542 IMP: 0 EW:-6 3NE3 600 -10.0 1 & KQT3 IMP: -10 EW:-3 3SE-2 200 80 1
& Q6432 & AT8 a & AJT98765
v Q3 v AK92 v QJT763 + v 94
+ K865 — + Q42 ¢+ 987 ¢ 53
& K3 » A98 » A964 a7
% ¢ VAN o KI75 o OVAN ,
N ~~~~~ v J854 N 54 ~~5 o K852
S ~~~~~ oT S 54~~5 ¢ KJT42
E ~3~43 &QJT7 E ~~~1~ &J852
W~3~43 W ~~~1-~
# 27 » K7 3NN-1-50 Mean: 3NN3 400 80 1 ||# 28 4 AT654 5DXE-3 500 Mean: 5DXE-3 500 100 1
v J3 2DN290 40  2DN2 90 20 1 v KQ63 4SN-1-100 10  5DXE-2 300 7.0 1
o KQ8654 Dif: -140 NS:-3 3NS-1 50 3.0 3 + J9 Dif: 600 NS:10 4SN-1 4100 -3.0 1
» Q62 IMP: -4 EW:-2 3NN-1 50 3.0 1 & A7 IMP: 12 EW:3  3NS-1 100 -3.0 1
# 9842 s J5 » 87 » K9 4SN-2 200 -5.0 1
v QT754 v K962 v A I v 98752 4SN-3 -300 -7.0 1
* AJ7 ¢T3 + Q854 ¢ AT762
T » KJ973 » T86542 a~J
% ¢ VAN ,AQT63 F VAN 4, QJ32
N 25~22 A8 N ~~232 ¢ JT4
S 25~22 492 S ~~232 +K3
E ~~2~~ &A854 E ~~~~~ & KQ93
W ~~2~~ W ~~~~~
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#1: 3 [EIEL(T1) #2: 1 ZEFE(62.54) #3 2 1B (61.73)

4 NS: Bt BREEEIEAC) -30 1 NS: E38 iEmi6(F0) 37 0.09 19.91| Total VP: 59.69 Rank:
EW: SR % REHO) 37 EW: §E{_# MEFR(BAC) 30 IMP:| 1 : 56 4
e
# 15 » Q86 3NW-1-50 Mean: 3NW-2 100 80 1 [[#16 & QT987632 4SXN-2 300 Mean: 5DW-1 100 9.0 1
v 753 3NW4 430 -260 3NW-1 50 70 1 v6 4SXN-2 300 -290  4SXN-2 300 0.0 4
T Dif: -480 NS:-5 3NW3 400 -40 1 *5 Dif: 0 NS:0 3NW5 660 9.0 1
» KT9642 IMP: -10 EW:-7 3NW4 430 50 2 » 987 IMP: 0 EW:0
s K32 aJ 3SXS-2 500 60 1 ||a K5 » A4
v K82 | v ATé4 v KJ5 — v QT43
* AKJ7 + 6543 * A942 ¢ QJT7
& A87 » QJ53 » K652 » AT4
o4 VBN 4 ATI754 o OVABN ,J
N ~~~~~ v QJ9 N ~~~ 2~ o A9872
§ ~~~~~ + Q982 S ~~~2~ ¢ K863
E 234~2 & E 444~5 & QJ3
W 234~2 W 444~5
# 17 s J4 3CN4 -130 Mean: 3SXW-4 800 11.0 1 ||# 18 » K6 4SXW-1-100 Mean: 3NS3 600 11.0 1
v QT6 3CN4 -130 210 3HS4 170 1.0 1 v Q987 4CN-1100 10 4SXW-1 100 30 2
+ A632 Dif: 0 NS:-2 3CN4 130 20 3 ¢ Q5 Dif: -200 NS:-3 4CN-1 100 -3.0 1
& AQ93 IMP: 0 EW:2 4HS-2 4100 7.0 1 & A9764 IMP: -5 EW:-3 3NS-1 4100 -3.0 1
& KQT98 a A52 » T987 3SXW3 530 -11.0 1
v KJ32 v 98 | v J6543
¢ 84 ¢ JT975 *9
& 72 » JT4 a JT5
®IVOBN o763 s QJ
N 4~2~2 9A754 v AT2
S 4~2~2 +KQ + KJ42
E ~~~1~ &K865 & KQ32
W ~~~1+~
#19 » Q65 3NW5 660 Mean: 4HW5 650 00 2 ||# 20 & K7543 3NE4 630 Mean: 3NE3 600 1.0 2
v J52 3NW5 660 -640 3NW4 630 00 2 v 86 3NE5 660 -620 3NE4 630 0.0 3
+ Q8643 Dif: 0 NS:-1 3NW5 660 -1.0 2 + 64 Dif: -30 NS:-1 3NE5 660 -1.0 1
» 75 IMP: 0 EW:1 » JT75 IMP: -1 EW:0
s AT43 a 72 a JT2 & Q6
v 83 v AKQ764 v 943 _I_ v AK72
* AK97 * T2 + KT953 ¢ QJ7
& AQ2 » 643 A9 » KQ83
o ¢ VAN 4KJB *oVAN 4 A8
N ~~~~~ vT9 N ~~~~~ v QJTS
S ~~~~~ ¢+ J5 S ~~~~~ o+ A82
E ~~6~5 &KJT98 E ~42~2 4642
W~~6~5 W ~42~2
# 21 aT 3NN4 -630 Mean: 3NN4 630 9.0 3 ||# 22 'S 5HXS5 -650 Mean: 5HXS5 650 10.0 1
w7 3NS-1100 240  3NS-1 100 -8.0 2 v AK432 5HS5 -450 200  5CXN5 550 8.0 1
+ AQ8754 Dif: -730 NS:-8 3NS-2 200 -10.0 1 *Q Dif: -200 NS:6 5HS5 450 6.0 1
& QJ975 IMP: -12 EW:-9 & AQJT762 IMP: -5 EW:-10 6HN-1 50 6.0 1
& A953 » J872 & KQJ6532 & A98 6HXS-1 100 -7.0 1
v 654 v JT92 v 96 — v QT 6HXS-2  -300 -11.0 1
¢ J62 ¢+ K3 + AJ5 ¢ KT762
& K42 » AT8 a9 » K84
% ¢ VAN o, KQ64 oo VAN ,T74
N 23 ~~1 v AKQ83 N 5~5~~ ¢ J875
S 23~~1 ¢T9 S 5~5~~ 49843
E ~~~1~ 63 E ~3~41 &53
W ~~~1+~ W ~4~41
# 23 4 9742 1NW2 120 Mean: 1NWA1 -90 1.0 1 # 24 4 J9 3SW4 170 Mean: 3SE3 140 1.0 1
v 9432 1NW2 120 -120  1NW2 120 00 4 v QT8 2SE4 170 -160 3SW4 470 0.0 1
* Q9 Dif: 0 NS:0 1NW3 4150 1.0 1 * AJT Dif: 0 NS:0 3SE4 4170 0.0 1
» KQ8 IMP: 0 EW:0 & QT654 IMP: 0 EW:0 2sSw4 470 0.0 1
» J86 » KQT » K64 #» AT7532 2SE4 470 0.0 2
v AK + v JT7 v K543 v 762
¢ AKJ65 ¢ T32 Q8 * K92
& 764 S & T953 » K983 a7
¢ VBN 4 A53 o4V ABN 4, Q8
N ~~1~~ v Q865 N 11~~~ v AJ
S ~~1~~ 4874 S 11~~~ 476543
E 23 ~~3 &AJ2 E ~~131 &AJ2
W 23~~3 W ~~231
# 25 aJ 3NE-1-100 Mean: 4SE-1 100 6.0 1 ||# 26 » KQ432 5DS5 -600 Mean: 3NN5 660 3.0 3
v T76 4SE4 620 -130  3NE-1 100 6.0 3 v A 3NN4 -630 560  3NN4 630 2.0 1
¢ AJI73 Dif: -720 NS:-10 4SE4 620 -10.0 1 + AQ6 Dif: 30 NS:2 5DS5 600 1.0 1
& 6542 IMP: -12 EW:-6 3NE3 600 -10.0 1 & KQT3 IMP: 1 EW:-1 3SE-2 200 80 1
& Q6432 & AT8 a & AJT98765
v Q3 v AK92 v QJT763 + v 94
+ K865 — + Q42 ¢+ 987 ¢ 53
& K3 » A98 » A964 a7
% ¢ VAN o KI75 o OVAN ,
N ~~~~~ v J854 N 54 ~~5 o K852
S ~~~~~ T S 54 ~~5 ¢ KJT42
E ~3~43 &QJT7 E ~~~1~ &J852
W ~3~43 W ~~~1-~
# 27 » K7 3NS-150 Mean: 3NN3 400 80 1 ||# 28 4 AT654 5DXE-2 -300 Mean: 5DXE-3 500 100 1
v J3 3NS-150 40  2DN2 90 20 1 v KQ63 4SN-2200 10  5DXE-2 300 7.0 1
o KQ8654 Dif: 0 NS:-3 3NS-1 50 3.0 3 + J9 Dif: -500 NS:-5 4SN-1 4100 -3.0 1
» Q62 IMP: 0 EW:3 3NN-1 50 3.0 1 & A7 IMP: -11 EW:-7 3NS-1 100 -3.0 1
# 9842 s J5 » 87 » K9 4SN-2 200 -5.0 1
v QT754 v K962 v A I v 98752 4SN-3 -300 -7.0 1
* AJ7 ¢T3 + Q854 ¢ AT762
T » KJ973 » T86542 a~J
% ¢ VAN ,AQT63 F VAN 4, QJ32
N 25~22 A8 N ~~232 ¢ JT4
S 25~22 492 S ~~232 +K3
E ~~2~~ &A854 E ~~~~~ & KQ93
W ~~2~~ W ~~~~~




113 FF >2ABERFHLE

==> R6

#1: 3 [EIEL(T1) #2: 1 ZEFE(62.54) #3 2 1B (61.73)

5 NS: Figsl FEIrEEEC) -28 2 NS: BRE# BREI5(BRO) - 11 5.58 14.42| Total VP: 53.00 Rank:
EW: EiEHE BE2RZZ(EFHO) 11 EW: R85 Bt A((BAC) 2 IMP:| 26 42 5
# 15 » Q86 3SXS-2 500 Mean: 3NW-2 100 80 1 [[#16 s QT 987632 4SXN-2 300 Mean: 5DW-1 100 9.0 1
v 753 3NW3 400 -260 3NW-1 50 70 1 v6 5DW-1-100 -290  4SXN-2 300 0.0 4
T Dif: 100 NS:-4 3NW3 400 -40 1 *5 Dif: 400 NS:9 3NW5 660 9.0 1
» KT9642 IMP: 3 EW:6 3NW4 430 50 2 » 987 IMP: 9 EW:0
s K32 aJ 3SXS-2 500 60 1 ||a K5 » A4
v K82 | v ATé4 v KJ5 — v QT43
* AKJ7 + 6543 * A942 ¢ QJT7
& A87 » QJ53 » K652 » AT4
o4 VBN 4 ATI754 o OVABN ,J
N ~~~~~ v QJ9 N ~~~ 2~ o A9872
§ ~~~~~ + Q982 S ~~~2~ ¢ K863
E 234~2 & E 444~5 & QJ3
W 234~2 W 444~5
# 17 s J4 3HS4 -170 Mean: 3SXW-4 800 110 1 ||# 18 » K6 3NS-1100 Mean: 3NS3 600 11.0 1
v QT6 3SXW-4 -800 210 3HS4 170 1.0 1 v Q987 3SXW3530 10 4SXW-1 100 30 2
+ A632 Dif: 630 NS:11 3CN4 130 20 3 ¢ Q5 Dif: -430 NS:-11  4CN-1 100 -3.0 1
& AQ93 IMP: 12 EW:1  4HS-2 4100 7.0 1 & A9764 IMP: -10 EW:3  3NS-1 4100 -3.0 1
& KQT98 a A52 » T987 3SXW3 530 -11.0 1
v KJ32 v 98 | v J6543
¢ 84 ¢ JT975 *9
& 72 » JT4 a JT5
®IVOBN o763 s QJ
N 4~2~2 9A754 v AT2
S 4~2~2 +KQ + KJ42
E ~~~1~ &K865 & KQ32
W ~~~1+~
#19 » Q65 3NW4 630 Mean: 4HWS5 650 00 2 ||# 20 & K7543 3NE4 630 Mean: 3NE3 600 1.0 2
v J52 3NW4 630 -640 3NW4 630 00 2 v 86 3NE3 600 -620 3NE4 630 0.0 3
+ Q8643 Dif: 0 NS:0 3NW5 660 -1.0 2 ¢ 64 Dif: 30 NS:1  3NE5 660 -1.0 1
» 75 IMP: 0 EW:0 » JT75 IMP: 1 EW:0
s AT43 a 72 a JT2 & Q6
v 83 v AKQ764 v 943 _I_ v AK72
* AK97 * T2 + KT953 ¢ QJ7
& AQ2 » 643 A9 » KQ83
o ¢ VAN 4KJB *oVAN 4 A8
N ~~~~~ vT9 N ~~~~~ v QJTS
S ~~~~~ ¢+ J5 S ~~~~~ + A82
E ~~6~5 &KJT98 E ~42~2 4642
W~~6~5 W ~42~2
# 21 aT 3NS-1100 Mean: 3NN4 630 9.0 3 ||# 22 'y 6HN-1 50 Mean: 5HXS5 650 10.0 1
w7 3NS-2200 240  3NS-1 100 -8.0 2 v AK432 6HXS-1100 200 5CXN5 550 8.0 1
+ AQ8754 Dif: -100 NS:-10 3NS-2 200 -10.0 1 *Q Dif: -50 NS:-7 5HS5 450 6.0 1
& QJ975 IMP: -3 EW:8 & AQJT762 IMP: -2 EW:6 6HN-1 50 6.0 1
& A953 » J872 & KQJ6532 & A98 6HXS-1 100 -7.0 1
v 654 v JT92 v 96 — v QT 6HXS-2  -300 -11.0 1
¢ J62 ¢+ K3 + AJ5 + KT762
& K42 » AT8 a9 » K84
% ¢ VAN o, KQ64 oo VAN ,T74
N 23 ~~1 v AKQ83 N 5~5~~ ¢ J875
S 23~~1 ¢T9 S 5~5~~ 49843
E ~~~1~ 63 E ~3~41 &53
W ~~~1+~ W ~4~41
# 23 4 9742 1NW3 150 Mean: 1NWA1 -90 1.0 1 # 24 4 J9 3SE4 170 Mean: 3SE3 140 1.0 1
v 9432 1NW2 120 -120  1NW2 120 00 4 v QT8 2SW4 170 -160  3SW4 470 0.0 1
* Q9 Dif: 30 NS:0 1NW3 4150 1.0 1 * AJT Dif: 0 NS:0 3SE4 4170 0.0 1
» KQ8 IMP: 1 EW:1 & QT654 IMP: 0 EW:0 2sSw4 470 0.0 1
» J86 » KQT » K64 #» AT7532 2SE4 470 0.0 2
v AK + v JT7 v K543 v 762
¢ AKJ65 ¢ T32 Q8 * K92
& 764 S & T953 » K983 a7
¢ VBN 4 A53 o4V ABN 4, Q8
N ~~1~~ v Q865 N 11~~~ v AJ
S ~~1~~ 4874 S 11~~~ 476543
E 23 ~~3 &AJ2 E ~~131 &AJ2
W 23~~3 W ~~231
# 25 aJ 4SE-1-100 Mean: 4SE-1 100 6.0 1 ||# 26 » KQ432 3NN5 -660 Mean: 3NN5 660 3.0 3
v T76 3NE3 600 -130  3NE-1 100 6.0 3 vA 3NN5-660 560  3NN4 630 2.0 1
¢ AJI73 Dif: -700 NS:-10 4SE4 620 -10.0 1 + AQ6 Dif: 0 NS:3 5DS5 600 1.0 1
& 6542 IMP: -12 EW:-6 3NE3 600 -10.0 1 & KQT3 IMP: 0 EW:-3 3SE-2 200 80 1
& Q6432 & AT8 a & AJT98765
v Q3 v AK92 v QJT763 + v 94
+ K865 — + Q42 ¢+ 987 ¢ 53
& K3 » A98 » A964 a7
% ¢ VAN o KI75 o OVAN ,
N ~~~~~ v J854 N 54 ~~5 o K852
S ~~~~~ T S 54 ~~5 ¢ KJT42
E ~3~43 &QJT7 E ~~~1~ &J852
W ~3~43 W ~~~1-~
# 27 » K7 3NN3 -400 Mean: 3NN3 400 80 1 ||# 28 4 AT654 3NS-1 100 Mean: 5DXE-3 500 100 1
v J3 3NS-150 40  2DN2 90 20 1 v KQ63 4SN-3300 10  5DXE-2 300 7.0 1
o KQ8654 Dif: -450 NS:-3 3NS-1 50 3.0 3 + J9 Dif: -200 NS:-7 4SN-1 4100 -3.0 1
» Q62 IMP: -10 EW:-8 3NN-1 50 3.0 1 & A7 IMP: -5 EW:3 3NS-1 100 -3.0 1
# 9842 s J5 » 87 » K9 4SN-2 200 -5.0 1
v QT754 v K962 v A I v 98752 4SN-3 -300 -7.0 1
* AJ7 ¢T3 + Q854 ¢ AT762
T » KJ973 » T86542 a~J
% ¢ VAN ,AQT63 F VAN 4, QJ32
N 25~22 A8 N ~~232 ¢ JT4
S 25~22 492 S ~~232 +K3
E ~~2~~ &A854 E ~~~~~ & KQ93
W ~~2~~ W ~~~~~




113 FF >2ABERFHLE

==> R6

#1: 3 [EIEL(T1) #2: 1 ZEFE(62.54) #3 2 1B (61.73)

6 NS: fal 5 Z5EEEAC) -1 3 NS: 15iR5E BRe5F(FIO) 31 2.96 17.04| Total VP: 52.04 Rank:
EW: RHEEE %EBEEH0) 31 EW: #tixiE BRERR(BAC) 1 IMP:| 24 54 6
# 15 » Q86 3NW-2 -100 Mean: 3NW-2 100 80 1 [[#16 s QT 987632 3NW5 660 Mean: 5DW-1 100 9.0 1
v 753 3NW4 430 -260 3NW-1 50 70 1 v6 4SXN-2 300 -290  4SXN-2 300 0.0 4
T Dif: -530 NS:-5 3NW3 400 -40 1 *5 Dif: 360 NS:0 3NW5 660 9.0 1
» KT9642 IMP: -11 EW:-8 3NW4 430 50 2 » 987 IMP: 8 EW:9
s K32 aJ 3SXS-2 500 60 1 ||a K5 » A4
v K82 | v ATé4 v KJ5 — v QT43
* AKJ7 + 6543 * A942 ¢ QJT7
& A87 » QJ53 » K652 » AT4
o4 VBN 4 ATI754 o OVABN ,J
N ~~~~~ v QJ9 N ~~~ 2~ o A9872
§ ~~~~~ + Q982 S ~~~2~ ¢ K863
E 234~2 & E 444~5 & QJ3
W 234~2 W 444~5
# 17 s J4 3CN4 -130 Mean: 3SXW-4 800 11.0 1 ||# 18 » K6 3NS3 -600 Mean: 3NS3 600 11.0 1
v QT6 4HS-2100 210  3HS4 170 1.0 1 v Q987 4SXW-1-100 10 4SXW-1 100 30 2
+ A632 Dif: -230 NS:-7 3CN4 130 20 3 ¢ Q5 Dif: -500 NS:3 4CN-1 100 -3.0 1
& AQ93 IMP: -6 EW:2 4HS-2 4100 7.0 1 & A9764 IMP: -11 EW:-11 3NS-1 4100 -3.0 1
& KQT98 a A52 » T987 3SXW3 530 -11.0 1
v KJ32 v 98 | v J6543
¢ 84 ¢ JT975 *9
& 72 » JT4 a JT5
®IVOBN o763 s QJ
N 4~2~2 9A754 v AT2
S 4~2~2 +KQ + KJ42
E ~~~1~ &K865 & KQ32
W ~~~1+~
#19 » Q65 4HWS5 650 Mean: 4HW5 650 00 2 ||# 20 & K7543 3NE4 630 Mean: 3NE3 600 1.0 2
v J52 4HW5 650 -640  3NW4 630 00 2 v 86 3NE3 600 -620 3NE4 630 0.0 3
+ Q8643 Dif: 0 NS:0 3NW5 660 -1.0 2 ¢ 64 Dif: 30 NS:1  3NE5 660 -1.0 1
» 75 IMP: 0 EW:0 » JT75 IMP: 1 EW:0
s AT43 a 72 a JT2 & Q6
v 83 v AKQ764 v 943 _I_ v AK72
* AK97 * T2 + KT953 ¢ QJ7
& AQ2 » 643 A9 » KQ83
o ¢ VAN 4KJB *oVAN 4 A8
N ~~~~~ vT9 N ~~~~~ v QJTS
S ~~~~~ ¢+ J5 S ~~~~~ o+ A82
E ~~6~5 &KJT98 E ~42~2 4642
W~~6~5 W ~42~2
# 21 aT 3NN4 -630 Mean: 3NN4 630 9.0 3 ||# 22 'S 5CXN5 -550 Mean: 5HXS5 650 10.0 1
w7 3NN4 -630 240  3NS-1 100 -8.0 2 v AK432 6HXS-2300 200 5CXN5 550 8.0 1
+ AQ8754 Dif: 0 NS:9 3NS-2 200 -10.0 1 *Q Dif: -850 NS:-11 5HS5 450 6.0 1
& QJ975 IMP: 0 EW:-9 & AQJT762 IMP: -13 EW:-8 6HN-1 50 6.0 1
& A953 » J872 & KQJ6532 & A98 6HXS-1 100 -7.0 1
v 654 v JT92 v 96 — v QT 6HXS-2  -300 -11.0 1
¢ J62 ¢+ K3 + AJ5 ¢ KT762
& K42 » AT8 a9 » K84
% ¢ VAN o, KQ64 oo VAN ,T74
N 23 ~~1 v AKQ83 N 5~5~~ ¢ J875
S 23~~1 ¢T9 S 5~5~~ 49843
E ~~~1~ 63 E ~3~41 &53
W ~~~1+~ W ~4~41
# 23 4 9742 1NW1 90 Mean: 1NW1 -90 1.0 1 # 24 4 J9 2SE4 170 Mean: 3SE3 140 1.0 1
v 9432 1NW2 120 -120  1NW2 120 00 4 v QT8 3SE3 140 -160 3SW4 470 0.0 1
* Q9 Dif: -30 NS:0 1NW3 4150 1.0 1 * AJT Dif: 30 NS:1 3SE4 4170 0.0 1
» KQ8 IMP: -1 EW:-1 & QT654 IMP: 1 EW:0 2sSw4 470 0.0 1
» J86 » KQT » K64 #» AT7532 2SE4 470 0.0 2
v AK + v JT7 v K543 v 762
¢ AKJ65 ¢ T32 Q8 * K92
& 764 S & T953 » K983 a7
¢ VBN 4 A53 o4V ABN 4, Q8
N ~~1~~ v Q865 N 11~~~ v AJ
S ~~1~~ 4874 S 11~~~ 476543
E 23 ~~3 &AJ2 E ~~131 &AJ2
W 23~~3 W ~~231
# 25 aJ 3NE-1-100 Mean: 4SE-1 100 6.0 1 ||# 26 » KQ432 3SE-2 -200 Mean: 3NN5 660 3.0 3
v T76 3NE-1-100 -130  3NE-1 100 6.0 3 vA 3NN5 -660 560  3NN4 630 2.0 1
¢ AJI73 Dif: 0 NS:6 4SE4 620 -10.0 1 + AQ6 Dif: 460 NS:3 5DS5 600 1.0 1
& 6542 IMP: 0 EW:-6 3NE3 600 -10.0 1 & KQT3 IMP: 10 EW:8 3SE-2 200 80 1
& Q6432 & AT8 a & AJT98765
v Q3 v AK92 v QJT763 + v 94
+ K865 — + Q42 ¢+ 987 ¢ 53
& K3 » A98 » A964 a7
% ¢ VAN o KI75 o OVAN ,
N ~~~~~ v J854 N 54 ~~5 o K852
S ~~~~~ T S 54 ~~5 ¢ KJT42
E ~3~43 &QJT7 E ~~~1~ &J852
W ~3~43 W ~~~1-~
# 27 » K7 3NN-150 Mean: 3NN3 400 80 1 ||# 28 4 AT654 5DXE-3 -500 Mean: 5DXE-3 500 100 1
v J3 2DN2-90 40  2DN2 90 20 1 v KQ63 4SN-1100 10  5DXE-2 300 7.0 1
o KQ8654 Dif: 140 NS:2 3NS-1 50 3.0 3 + J9 Dif: -600 NS:-3 4SN-1 4100 -3.0 1
» Q62 IMP: 4 EW:3 3NN-1 50 3.0 1 & A7 IMP: -12 EW:-10 3NS-1 100 -3.0 1
# 9842 s J5 » 87 » K9 4SN-2 200 -5.0 1
v QT754 v K962 v A I v 98752 4SN-3 -300 -7.0 1
* AJ7 ¢T3 + Q854 ¢ AT762
T » KJ973 » T86542 a~J
% ¢ VAN ,AQT63 F VAN 4, QJ32
N 25~22 A8 N ~~232 ¢ JT4
S 25~22 492 S ~~232 +K3
E ~~2~~ &A854 E ~~~~~ & KQ93
W ~~2~~ W ~~~~~




